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Enhancing Learning Outcomes

We achieve this by building products and learning solutions that focus on
diagnostic assessment and personalised learning. Our learning platforms
cull relevant and customised intelligence from over five billion data points
to deliver content in the form of questions, activities, games and videos to
assess students’ learning levels and provide explanations, feedback and
learning inputs for all stakeholders. This data treasure has been built over
two decades and is one-of-its-kind in the education industry.

We believe in a scientific approach to conceptualising, designing and
building our products. This stems from a dream to discover SCIENCE OF
LEARNING that can systematically be made available to teachers. Ei's
mission is to build this ‘Science of Learning’ which provides a repository
of data and techniques that can be used by teachers to help children
learn better - a big improvement over today's situation where teachers
struggle alone to help students learn. Ei's work on assessment and
learning has already helped create banks of misconceptions, common
student errors and the like and these are being shared as usable insights.

E1 ASSET

Know where your school stands
Ei ASSET is a skill-based test that measures students' conceptual understanding and benchmarks the school’s

A test for every school, every class, every year

Grades and Subjects i Regions and Curriculum

310 10 - English, Math & Science i The Ei ASSET exams cover all the
5to 10 - Social Studies major curricula being taught in India,
4to8 - Hindi i UAE, Singapore, Gulf, & Africa.

Ei ASSET helps you gain these essential insights
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performance at international, national & regional levels with actionable insights through easy-to-understand reports.

Benchmark Performance Diagnose Misconceptions ! Assess Teacher Effectiveness
How does your school's students Do students understand concepts What should your teachers do to
perform compared to other schools and deeply and are there any critical improve classroom instruction?
what areas need improvement? learning gaps? :

Get a complete Know how well your Focu your teaching time
picture of your school's |  students can thinkand on the most
performance apply concepts critical learning gaps
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PERSONALISED STUDENT FEEDBACK

Sample Student Report ,
Congratulations on taking the ASSET test!

ASSET is a diagnostic test that tells you which skills [1;
e analysis given here is for all the subjects for which you have taken the ASSET fest.

on are stron

at and which skills you should work on fo

develop further.
Subject Highest-performing Skills Lowest-performing Skills

Understands the usage of grammar concepls Interprets Hie lines of a poem

English -
Knotws correct spellings and phonics in words Identifies synonyms, antonyms and other words
Measurement and data interpretation Hrrﬂrm{rfu.‘ operations: four basic operations,

Maths . . properties
Applications in daily life: word/viswal problems Area and perimeter: concepls and computations
Integrating different concepts or information for  Hypothesis formulation; design of apparatus or
decision making experiment

Science *

Extraction, transtation and application of Classification/comparison of organisms/processcs;

knowledge or informuation giving examples
o FUAS & HA dLAT B FHSAT wfera el AR Hpad o #Y AR g
AT & deal 1 caawiis AEEd

Practice questions compiled especially for you!

This MyBook will guide you to improve those areas where your performance was low! In each subject, we have chosen
two skills which includes at least one skill in which you have not performed well, and provided practice questions for
the same. Ansiwers to all these guestions with explanations are provided at the end of His booklet.

Remember, this is YOUR practice book - no other student taking ASSET wonld get exactly the same set of questions!
So do them carefully. Also write to us and tell us if you found the questions helpfiel. Email us at feedback@ei-imdia.com
to slurre your comments and suggestions.

As yon know, ASSET is offered in English, Maths and Science in classes 3-10, and in Hindi in classes 4-8, and Social
Studics in classes 5-10. Practice questions are provided in all the subjecls in which you fook ASSET.

Read Hrongh your analysis carefilly to know how you did on each skill and question. By working on areas that need
attention, you can casily improve and do better!

Best of luck!

Regards,

Jlo bt~

Pranav Kothari
CEO - Educational Initiatives

In case of

1800-102-

ueries, please write to us at feedback@ei-india.com or contact our customer care executive at the toll free number
(9 am - 6 pm, Mon - Fril.



CIRCULAR SKILL PROFILE

Sample Student Report (6)

English ==
E1l H4

E1) Vocabulary in Context H1) Foma #i 3f=a qHH
E2) Grammar Usage H2) a7 &= e &g
E3) Literal Comprehension H3) ere=se
E4) Extended Reasoning H4) =0T

Maths Science
ggi?ﬁrﬁﬁest?cme’ Computations and S1) Knowledge of Basic Science

A Facts
2/1[12(} K}tgfl?: :dlate Concepts, Geometry 52) Conceptual Understanding and
M3) Word and Application Problems Comprehen_smn : .
! S3) Reasoning and Analysis Skills

M4) Problem Solving, Advanced 54) Original Thinki
Problems ) Original Thinking

The Circular Skill Profile represents your performance on each core skill in each subject test of ASSET you have taken. The outer,
circle represents 100%. The section between two axes represents a core skill in a subject, and the shaded region plots your
performance on the skill. The greater the height of the shaded section, the better the performance.

( Understanding Skills)

The main difference between the ASSET(Assessment of Scholastic Skills through
Educational Testing) tests and the regular school tests lies in the fact that ASSET tests are
SKILL-BASED. Skills or competencies refer to specific abilities that a student develops. A
skill-based test can be contrasted with a fact- or memory-based test. In the latter type of
tests, the student is asked to recall or reproduce facts more often than to apply the concepts
taught to them. However, most competitive exams, entrance tests as well as international
admission tests (like the GRE) tend to be skill-based. This is because it is being widely
appreciated that a student's understanding can be tested better with a skill-based test rather
than a fact-based one. Facts and their recall are important; however, they should not be

overemphasized and ASSET believes in this.

Eq
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Your Score: 17/60 [

ENGLISH PERFORMANCE

Sample Student Report (6)
bt

S

1 ] W8 - YourScore (%) Percentile®: <50

0%

NA 100%  NA - National Aversge (%)

SKILL-BASED SUMMARY AND STRENGTH / WEAKMESS ANALYSIS

No

1

9

10

11

12

Caore Skill

Viocabulary in Context

Grammar Uzage

Literal Comprehension

Extended Reazoning

Sub Skill Answered Right | Answered Wrong l Graph S
Deduces word meanings from

contextual clues 4 1,19,35,53 ‘:’:l W
ldentifies symomyms, antonyms

and other words alodd o0, |:|’:] W
Knows correct spellings and

phonics in words 15.17 24.58 ::
Knows punctuation and sentence 55.60 26.52.56.59

formation : P [ ——
Understands the usage of

grammar concepts 46.47.49,50 1648 :;:
Identifies and recalls direct facts in

Understands idioms, proverbs and

figures of speech £ el st = —|
Understands organisation and

context of the passage &3 10,5733 E— v
Analyses characters and situations | 6 4572242 ‘:}:I w
Identifies the main idea and 3

purpose of the passage 4 oA ARG ::
Infers using contextual clues and 2 97 90 34.38.41

prior knowledae ! A :}:
Interprets the lines of & poem 911,12 ::

The graphs represent the percentage of guestions answered correctly, Skills where the performance & <25% are marked as W and =75% are marked as 5,
Oinby slills having at beast 5 questions are considered
*Parcentile refers to the percentage of students that scored lower than you in the test. E.g. If your percentile score is 72, this means that 72% of all other
participating students have scored less than you have, Alternately. this means that you are in the top 28% of all participating students for this subject.

Performance History:

Performance as compared to the

national average

200%
175% 4
150% 4

125% 4+

—

B2 3 B
# & & =

%)

0%

m vour Perlormance

Class 3 {2014} Class & (2013)

Class 5 (2016) Class 6 (2017)
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ENGLISH SCORE CARD

Sample Student Report (6)

1-Your Answer 2-Correct Answer

3-Result 4-National Performance

Q Skill Tested 112 3| 4 Error Indicated
1 |Deduces word meanings from contextual clues D | B | X |44% |unable to deduce meaning of words in context
2 |Infers using contextual clues and prior knowledge AlA |V 64%|-
3 |Identifies and recalls direct facts in the passage D | C | X |82% |unable to recall ideas from a passage
4 |Analyses characters and situations D | C | X 68%  unable to analyse and infer situations
5 | Analyses characters and situations A | D | X |31% |unable to analyse and infer characters
6 |Analyses characters and situations DD |v |44% |-
7 | Analyses characters and situations A | B | X |51% |unable to analyse situations in a passage
8 |Understands idioms, proverbs and figures of speech B B |v 25%|-
9 |Interprets the lines of a poem D | A | X |63% |unable to interpret the lines of a poem
10 |Understands organisation and context of the passage B | D | X |56% |unable to understand context of the passage
11 |Interprets the lines of a poem C | A | X |45% |unable to interpret the lines of a poem
12 |Interprets the lines of a poem A | D | X |54% |unable to interpret the lines of a poem
13 |Identifies the main idea and purpose of the passage C|C|v 64% |-
14 | Identifies synonyms, antonyms and other words A | D | X |55% |unable to identify antonyms of a word
15 |Knows correct spellings and phonics in words C|C|v |63%|-
16 |Understands the usage of grammar concepts B | C | X |75% |unable to identify adverbs
17 | Knows correct spellings and phonics in words DD |v |48% |-
18 | Identifies synonyms, antonyms and other words D | A | X 43% |unable to identify antonym of a word
19 | Deduces word meanings from contextual clues C | B | X |55% |unable to deduce meaning of words in context
20 |Identifies synonyms, antonyms and other words B | C | X |44%  unable to identify synonym of a word
21 |Identifies and recalls direct facts in the passage A | B | X |51% |unable to recall ideas from a passage
22 | Analyses characters and situations C | A | X |58% lunable to analyse characters in a passage
23 |Understands organisation and context of the passage A A |V |26%|-
24 | Knows correct spellings and phonics in words C | B | X |33% |unable to identify correct spellings of words
25 |Understands idioms, proverbs and figures of speech C | B | X |52% |unable to understand idiomatic phrases
26 |Knows punctuation and sentence formation A | C | X | 56% |unable to form a grammatically correct sentence
27 |Infers using contextual clues and prior knowledge B B |v |79% |-
28 | Identifies and recalls direct facts in the passage B | C | X |52% |unable to recall ideas from a passage
29 |ldentifies the main idea and purpose of the passage A | C | X [38% | unable to identify the main idea of the passage
30 |Infers using contextual clues and prior knowledge D D |v 61%|-
31 |Identifies and recalls direct facts in the passage B | A | X |70% |unable to recall ideas from a passage
32 |ldentifies the main idea and purpose of the passage D | C | X [38% |unable to identify the purpose of the passage
33 |Identifies and recalls direct facts in the passage B | C | X |54% |unable to recall ideas from a passage
34 |Infers using contextual clues and prior knowledge D |B | X |50% |unable to infer using contextual clues
35 | Deduces word meanings from contextual clues A | C | X |59% |unable to deduce meaning of words in context
36 | Identifies synonyms, antonyms and other words C | A | X |37% |unable to identify antonym of a word
37 |Understands organisation and context of the passage C |B | X |41% |unable to understand context of the passage
38 |Infers using contextual clues and prior knowledge A | D | X |40% |unable to infer using contextual clues
39 |Understands organisation and context of the passage C |B | X |32% |unable to understand context of the passage
40 |Identifies and recalls direct facts in the passage A A |V |42% |-

www.ei-india.com




ENGLISH SCORE CARD

Sample Student Report (6)

Q Skill Tested 112 3| 4 Error Indicated

41 |Infers using contextual clues and prior knowledge B | C | X |27% |unable to infer using contextual clues

42 | Analyses characters and situations A | C | X |33% |unable to analyse situations in a passage

43 | Identifies synonyms, antonyms and other words C |B | X |54% |unable to identify synonym of a word

44 | Understands organisation and context of the passage A | C | X |33% |unable to understand context of the passage
45 |Identifies the main idea and purpose of the passage D | C | X |18% |unable to identify the purpose of the passage
46 |Understands the usage of grammar concepts DD |v |58%|-

47 |Understands the usage of grammar concepts B B |v 54% |-

48 |Understands the usage of grammar concepts A | D | X |38% |unable to apply grammar concepts

49 |Understands the usage of grammar concepts D | D | v 58% |-

50 |Understands the usage of grammar concepts AlA | v |73% -

51 |Understands idioms, proverbs and figures of speech C |B | X |25% |unable to understand figure of speech

52 | Knows punctuation and sentence formation A | C | X [55% unable to form a grammatically correct sentence
53 | Deduces word meanings from contextual clues B | A | X |28% |unable to deduce meaning of words in context
54 | Deduces word meanings from contextual clues C|C |v |46% |-

55 |Knows punctuation and sentence formation D D |v 61%|-

56 | Knows punctuation and sentence formation A | D | X [47% unable to form a grammatically correct sentence
57 |Understands idioms, proverbs and figures of speech B | A | X |39%  unable to understand the meaning of idioms
58 | Knows correct spellings and phonics in words B | D | X |32% |unable to identify phonetic sounds in words

59 |Knows punctuation and sentence formation B | A | X |38% |unable to form a grammatically correct sentence
60 |Knows punctuation and sentence formation A | * |V |100% (Question dropped - all given credit)

www.ei-india.com




MATHEMATICS PERFORMANCE

Sample Student Report (6)

. VS
Your Score: 24/40 | i | WS - YourSeore (%) Percentile®: 82

0% NA 100%  NA - National Average (%)

SKILL-BASED SUMMARY AND STRENGTH / WEAKMESS ANALYSIS

Mo, | Core Skill Sub Skill Answered Right | Answered Wrong |l Graph SW
Arithmetic operations: four basic
1 ntirs: BTk 27 2,19,26,34 :::l w
MNumber sense, | '
2 | Computations and Basic | Factors and multiples 22,39 10 ‘:':l
Arithmetic i : ;
Number sense, related concepts
3 and basic number competency 20,2932 1,25 ::
Area and perimeter: concepts and
4 computations 21 4.16 I:":\
Fractions and decimals: concepts,
® | Intermediate Concepls, | use and conversions 15:3,35,97 s | °
Geometry and Algebra ' 1
6 Geometry: concepts and 6.94 12
applcations - =
7 Pre-algebra and algebra skills 11,14 23 :'::1
Applications in daily life: word/
A T oplication | Visual problems 9,17,28,36 7 | | °
9 Eyahlend Measurement and data 3.5.31
interpretation —H—
Problem Solving, Problem solving: advanced or
10 Mmu::ed Prablems challenging problems 818 30,3840 :’:]

The graphs represent the percentage of questions answered correcthy. Slills where the performance s <25% are marked as Wand >75% are marked as 5,
Onby slalls having at beast 5 questions are considered.

*Percentile refers to the percentage of students that scored bower than you in the test. E.g. I your percentile score is 72, this means that 72% of all other
participating students have scored less than vou have. Alternately, this means that you are in the top 25% of all participating stedents for this subject.

Performance History:

m Your Perlormance
200% -

175% 4
150 -
125%
100°% 4

70% o

.

2% +

Performance as compared to the

national average

0% b t

Class 3 (2014} Class 4 (2015) Class 5 (2016) Class 6 (2017)

H.
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MATHS SCORE CARD

Sample Student Report (6)

1-Your Answer 2-Correct Answer

3-Result 4-National Performance

Q Skill Tested 112 3| 4 Error Indicated
1 |Number sense, related concepts and basic number competency C | A | X | 64% Weak number sense
2 | Arithmetic operations: four basic operations, properties A | D | X |22% |Division & Multiplication concepts are not clear
3 |Measurement and data interpretation B B |v 55% |-
4 |Area and perimeter: concepts and computations B | C | X |24% |Weaker understanding of area concepts
5 |Measurement and data interpretation AlA |V |51%|-
6 |Geometry: concepts and applications AlA |V |39%|-
7 | Applications in daily life: word/visual problems A | C | X |16% |Volume problem not analysed correctly
8 |Problem solving: advanced or challenging problems DD |v |31%|-
9 |Applications in daily life: word/visual problems B B |v 44% |-
10 |Factors and multiples B | C | X |31% Concepts of common multiples is not clear
11 | Pre-algebra and algebra skills B B |v 65%|-
12 | Geometry: concepts and applications D | C | X |24% |Weaker understanding of views of solids
13 |Fractions and decimals: concepts, use and conversions D | A | X |64% |Basics of decimal fractions is not clear
14 | Pre-algebra and algebra skills A A |V |49% |-
15 |Fractions and decimals: concepts, use and conversions DD |v |45% |-
16 | Area and perimeter: concepts and computations C |D | X |19% |Weaker understanding of area concepts
17 | Applications in daily life: word/visual problems clC | v |47% |-
18 | Problem solving: advanced or challenging problems DD |v |31%|-
19 | Arithmetic operations: four basic operations, properties C | B | X |36% |Addition & Subtraction concepts are not clear
20 |Number sense, related concepts and basic number competency C|C|v 52%|-
21 | Area and perimeter: concepts and computations B B |v 44% |-
22 |Factors and multiples B B |v 54% |-
23 | Pre-algebra and algebra skills C | D | X |50% |Weak reasoning with variable
24 | Geometry: concepts and applications B B |v 58%|-
25 |Number sense, related concepts and basic number competency C | D | X |31% |Weak number sense
26 | Arithmetic operations: four basic operations, properties D | A | X |31% |Division concepts not clear
27 | Arithmetic operations: four basic operations, properties C|C|v |58%|-
28 | Applications in daily life: word/visual problems B B |v |27% |-
29 | Number sense, related concepts and basic number competency B B |v 45% |-
30 | Problem solving: advanced or challenging problems D | C | X |38% Data analysed incorrectly
31 | Measurement and data interpretation C|C|v |31%|-
32 |Number sense, related concepts and basic number competency B B |v 25%|-
33 |Fractions and decimals: concepts, use and conversions B B |v |42% |-
34 | Arithmetic operations: four basic operations, properties A | C | X |41% |Multiplication concepts are not clear
35 |Fractions and decimals: concepts, use and conversions C|C |v |42% |-
36 | Applications in daily life: word/visual problems AlA |V |24%|-
37 |Fractions and decimals: concepts, use and conversions B B |v 54% |-
38 | Problem solving: advanced or challenging problems A | C | X |29% |Problem analysed incorrectly; Weak number sense
39 |Factors and multiples DD |v |40% |-
40 |Problem solving: advanced or challenging problems C | B | X |28% |Data interpreted incorrectly

www.ei-india.com




SCIENCE PERFORMANCE

Sample Student Report (6)

Yp
Your Score: 21/45 [ i 1 ¥S - Your Seore (%) Percentile®: <50

0% NA 100%  NA - National Average (%]

SKILL-BASED SUMMARY AND STRENGTH / WEAKNESS ANALYSIS

Skills Extraction, translation and
7 application of knowledge or 3,16,18.26 235

information

Representing, relating or
8 explaining scientific processes or | 7,39 1.5,36
obzerved phenomena

Hypothesis formulation; design of .
g apparatus or experiment 44 9.14,22,35,42

— Original Thinking

Integrating different concepts or
10 information for decizion making 8,19,38

Mo. | Core Skill Sub Skill Answered Right | Answered Wrong ll Graph SW
Definition or description of
1 scientific terms, organisms or 11,2043 31,41
Knowledge of Basic materials E::
Science Facts I ] T i
Recollecion or recognition of
= science facts and concepts 4 17.45 |:!]:|
Classification/comparison of
3 organisms/processes; giving 24 25,32
Conciuel examples  E—— —
Understanding and | |
Comprehension e
Knowledge of use of scientific
4 instruments, tools and procedures 1240 100 d:
Advanced or complex data
5 representation or interpretation 6,34 21,2937 :}:l
Analysis of information fo identify
6 trends or properties 13,28 15.23.27 d:
Reasoning and Analysis ' [ )

The graphs represent the percentage of questions answered correctly. Skalls where the performance is <25% are marked as W and =75% amre marked as 5.
Oinby skills having st beast 5 questions ane considerad.

*Porcentibe refers to the percentage of students that scored bower than youin the test. E.g. I yvour perentile score is 72, this means that 72% of all ather
participating students have scored less than you have, Alternately, this mears that you ase in the top 28% of all participating students for this subject,

Performance History:

m Your Perlormance

:

175% 4

:

g

Performance as compared to the
&
&

national average

£
R

Class 2 (2014 Class 4 {2015) Class 5 (2016) Class 6 (2017)

Eq
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SCIENCE SCORE CARD

Sample Student Report (6)

1-Your Answer 2-Correct Answer

3-Result 4-National Performance

Q Skill Tested 1 2|3 4 Error Indicated
1 |Representing, relating or explaining scientific processes or observed phenomena| D | B | X [51% |Inadequate knowledge of scientific terms
2 | Extraction, translation and application of knowledge or information B | C | X |56% |Error in interpreting tabular information
3 |Extraction, translation and application of knowledge or information AlA |V |29%]|-
4 |Recollection or recognition of science facts and concepts C|C |v |49% |-
5 | Representing, relating or explaining scientific processes or observed phenomena| D | B | X | 57% |Errorin understanding the map
6 | Advanced or complex data representation or interpretation C|C|v |60%|-
7 | Representing, relating or explaining scientific processes or observed phenomena| C | C | v | 68% -
8 | Integrating different concepts or information for decision making B B |v 64% |-
9 |Hypothesis formulation; design of apparatus or experiment C | D | X |23% Error in interpreting pictorial information
10 | Knowledge of use of scientific instruments, tools and procedures D | A | X |48% Inadequate knowledge of scientific processes
11 | Definition or description of scientific terms, organisms or materials AlA |V |57%|-
12 |Knowledge of use of scientific instruments, tools and procedures C|C |v |43% |-
13 | Analysis of information to identify trends or properties D | D |v 26%|-
14 |Hypothesis formulation; design of apparatus or experiment D | C | X |28% |Inadequate knowledge of scientific processes
15 | Analysis of information to identify trends or properties D | A | X | 65% Error in prediction
16 |Extraction, translation and application of knowledge or information cClC |v |7TT%|-
17 |Recollection or recognition of science facts and concepts A | C | X |43% Relevant knowledge not recalled
18 | Extraction, translation and application of knowledge or information D D |v 64% |-
19 |Integrating different concepts or information for decision making D D |v 35%|-
20 | Definition or description of scientific terms, organisms or materials A A |V 68% -
21 |Advanced or complex data representation or interpretation A | B | X |33% |Error in interpreting graphs
22 |Hypothesis formulation; design of apparatus or experiment B | A | X | 58% Error in prediction
23 | Analysis of information to identify trends or properties B | D | X |41% Error in predicting correct cause
24 | Classification/comparison of organisms/processes; giving examples B B |v 62% |-
25 | Classification/comparison of organisms/processes; giving examples C | A | X | 66% |Error in matching definitions with examples
26 |Extraction, translation and application of knowledge or information C | C|v 59% |-
27 | Analysis of information to identify trends or properties A | D | X |25% Error in prediction
28 | Analysis of information to identify trends or properties B B |v 54% |-
29 | Advanced or complex data representation or interpretation A | D | X |59% |Error in interpreting graphs
30 |Knowledge of use of scientific instruments, tools and procedures B | C | X |21% |Inadequate knowledge of scientific procedures
31 | Definition or description of scientific terms, organisms or materials D | C | X |21% |Reasons behind observations not understood
32 | Classification/comparison of organisms/processes; giving examples D | B | X |65% |Inadequate knowledge of defining properties
33 |Hypothesis formulation; design of apparatus or experiment D | C | X |42% |Inadequate knowledge of scientific processes
34 | Advanced or complex data representation or interpretation B B |v 45% |-
35 |Extraction, translation and application of knowledge or information A | C | X |36% Error in reading the map
36 | Representing, relating or explaining scientific processes or observed phenomena| A | D | X |24% |Error in drawing inference
37 | Advanced or complex data representation or interpretation A | C | X |48% |Error in interpreting pictorial information
38 | Integrating different concepts or information for decision making D D |v 45% |-
39 | Representing, relating or explaining scientific processes or observed phenomenal A | A | v | 55% |-
40 | Knowledge of use of scientific instruments, tools and procedures C | C |V |43% |-
41 |Definition or description of scientific terms, organisms or materials B | A | X |43% |Inadequate knowledge of classifying features
42 |Hypothesis formulation; design of apparatus or experiment A | B | X |46% Error in prediction
43 | Definition or description of scientific terms, organisms or materials AA |V |61%|-
44 |Hypothesis formulation; design of apparatus or experiment DD |v |29%]|-
45 |Recollection or recognition of science facts and concepts C |B | X |28%  Relevant knowledge not recalled

Ei
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HINDI PERFORMANCE

Sample Student Report (6)
Y5

Your Score: | 1/45

0%

| %5 - Your Scare (%) Percentile®: <50

NA 100%  NA - National Average (%)

SKILL-BASED SUMMARY AND STRENGTH / WEAKMESS ANALYSIS

No. | Core Skill

3

Firma I G
]
5

ETRTOT
&

| Sub kil

1 FaEE H 3T FAE TS § JqF Tl A FASA
5 ?ﬁwﬁﬂﬁw gﬁm%ﬁmﬁﬁrﬁamx

m@aﬁwmm
e
v regl &t

o TR

EATERIOT & dcal Y emEeiE
FTAEHT

Answered Right | Answered Wrong lGrﬂph SW
59212331 3,11,12,17,.20,22,29

1,7,13,19.24 25.-

i 323354 [ —

415,27 2843

40 26,1641 :: W
45 14,26,42 44 I:I:l w
35 836373830 | w

The graphs represent the percentage of questions anawered correctly, Slills where the performance is <25% are marked ss W and »75% are marked as 5.
Oinby slills having at beast 5 questions are conaidened.
*Percentile refers to the percentage of students that scored lower than vou in the test. Eg. If vour percentile score s T2, this means that 72% of all ather
participating students have scored less than you have. Alternately, this means that you are in the top 28% of all participating students for this subject.

Performance History:

200% +
175% 4
1507 4

125% 4+

]
(43
&

Performance as compared to the

national average

o &
;
L]

® our Performance

S
»
:

g
=]
g

Class 4 (2015)

i i
L] L]

Class 5 (2016) Class 6 (2017)
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HINDI SCORE CARD

Sample Student Report (6)

1-Your Answer 2-Correct Answer 3-Result 4-National Performance

Q Skill Tested 1 2/3/4 Q Skill Tested 1.2/3 4
1 |o-weara et frerer / fageor e B | D | X |57% |26 admmer-war va ol f qa add C | B|X [38%
2 |t yoR & el @ W= T Ry D | B | X [81%|| 27 |sfeoe ereel 3R afgradt o 30 3R g2 B|C|X 68%
3 | & A avdl B wEEr C | B | X [75% 28 |sfeora sreel 3t aqgradt a1 3 3R wrhor B C|X 61%
4 |wfewe et ¥R et & w7 T g B | D |X |70% |29 @ums & e awdi & wareE A D|X 53%
5 |wures & A avdt ® awear C | C|v |70%) 30 a%-weara et frereer / fswor sten D|D|v 57%
6 |Riffes YR % euedl B W TG T T C | B |X |65% 31 @ores & qer aezit o worsmen AlA |V 61%
7 |a-wena e e/ fRdwor ae B | C|X |58% 32 a%-wear et frereer / fswor sten C|A|[X 5%
8 |camaor % dcat f cTERRE S C | B | X [85% | 33 |ad-weara foreent forereren / faswor aten A | B|X 38%
9 |ure & A ad B wwEAr A A |V |75%) 34 |a%-weaa e freeer / Rswor s A C|X 49%
10 | 7w foad R / fadwor wear C | C |V |74%| 35 |zamor & aeat i camaaied sTasr B | B |V 77%
11 | & @ qeat o aHstar A| C|X |77%]| 36 zamor & deat @1 eamawits s D A|X 46%
12 | e & Hqe azat @ gHSEr D | C|X |81%| 37 zamor & dcat &1 eamagiits sy A|D|X 27%
13 | a%-wear fowd R / fadwor wer B | D |X 66%) 38 zamor & acal i camaeied stasr C|A|[X 51%
14 |aviarer-aa T wE A g add C | B | X |39%| 39 |zamor & aeal f camaeied staar B|A|[X 74%
15 wfeara el 3R gt @ 3 HR o A | B | X |58%) 40 fftes vaR & el @ @ @ sfa D |D|v 61%
16 |ffte= wBR & el &1 = T SR gE C | D |X 61% 41 fftes R & el & s @ sfa w@hr B|A|X 42%
17 | & a[e a2t ® aHera C | D | X |53%|42 |admamer-sar va ol i qa addr D C|X 68%
18 | 7T fooad R / fadwor weer A | A |V |65%) 43 |sfewe el 3 aAwedt @ 3 I T C|D|X |71%
19 | a&-wrr ot fmeer / frdor s B | C | X |59%) 44 aovemer-ma vd weat f g5 ad @ B | C|X 43%
20 |Fures & AqF et B wE B | D | X [37%) 45 |aoemar-mer v ol Y 4g ader A|A |V 45%
21 Fued § AF aar B FHESAr ALA |V T2%

22 |mues & A awat B wear C B |X |74%

23 FuEE § AF aAar B FHESAr ALA |V T3%

24 |a&-weaa et frarerer / faguor s D|B|X [33%

25 |af-wena facat farerer / fagwor e B |D|X |44%

*Percentile refers to the percentage of students that scored lower than you in the test. E.g. If your percentile score is 72, this means that 72% of all other
participating students have scored less than you have. Alternately, this means that you are in the top 28% of all participating students for this subject.
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PRACTICE QUESTIONS

This section has been specially designed for you to practise your low-
performing skills.

So, you have received your ASSET results. You have seen the scores, gone through the analysis,
checked your answers with the given correct answers and understood your strengths and
weaknesses.

Now, your question could be: How can | improve on the skills where | have performed low?

These practice questions have been designed to help you do exactly that. For every subject, we
have picked your low-performing skills and provided practice questions with answers and
explanations to help you do better next time.*

Try these out - discuss with your parents, teachers or friends if you need to. Answers and
explanations are given at the end, but check them only after you have tried your best to answer on
your own!

You can also write to us at info@ei-india.com and we'll help you out.

Good luck!

Regards,

The ASSET Team

*In English, if any reading comprehension skill is weak, an entire passage is provided for practice. In Hindi, only non-
reading comprehension skills have been provided for practice.

Note: Due to technical limitations, image quality may not be uniform and some images may appear slightly unclear. This is
not an error.
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Sklll: dertifiesfact=s and makes i mportant connections in comprehending = passage.

By reading a passage carefully, we will be able to identify facts that are clearly stated, zequence them
correcthy and deephy understand different evants, characters and their feelings. We will akka be able to use
clues in the form ofknomledge, words and expressions thatwe already know to connect important ideas

and arrive atthe correct arewers.

My clz=s has got 2 knoeeeit-all--
the kind who like=to tel

the proper way to Sit, and wal k,
and court, and speak, and spdl.

My cla=ss has got 3 knoowesit-all--

the kind who always hows

the =tuff tha heppaned yesterdays,
or even long-=go s,

She's constantly correcting me

if Frnalittle wrong.

Like when | shared oy bug report,
or when | sing 3 song.

oo wonder why & rooster crows?
Ex«zctly howr aflover groses?

Wb imverted radios?

Cr ewen if 2 glovsssorm glows?
She knows.

“ou ==k her whythe sky is blue?
Hivwr roy paper airplans flesy?

F afactisfd=seor true?

Cr when our book report is due?
She knows that too.

“ou rnight think I'd be zngry with
thi= grea-=mart cresture.

But sormeday |vdll belike her..
I'rngoing to be ateacher,

Which of these words from the poemis used as 3 noun'?

A kind (=tanza 1)
B. bugr=tarza 3]
C. glowes (stanza <h
0. paperistanza &)

What does'stuff' in the poem referto?

A places

B. occurrences
C. people

0. weather

I which tvo stanezzs, do =l the lines end ina rhymne?

A, Stanzadl and 2
B. Stanza 3 and 4
C. Starnea 4 and 5
0. Starza S and G
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Wibio isthe ' knoweit-all' in the pod's dass?

A, 3 classmate

B. an older student
C. ateacher

0. a computer

Which of thess lines shows = sign of inspirgion and daermingion?

A Wty class has got 3 know-it allk-
B. Sheknons thattoo.

C. Butsomeday [will be ke har..
0. K afact s false or true™

The poet'=fezling for the knoweit-all can best be described a=s one of
A fear

B. admiration

C. disgust

0. encouragement

Skl Arthrmdic operations: four basic operations, properties

This skill inwalwes the understanding of the four baszic oper ations, the short cuts that can be used to perform
these, the properties of these operations lke commutativity, associativity, distributive law ete. 1t also
includes an understanding of the algorithm used to pedform these aperations.

4O 2 divided by 22 lemwes 3 remainder 6.

Whiat will be the remainder if 40012 isdivided by 117

[MHote: You nesed NOT adudly caculae. ]

A
B. 5
c. N
0. 5

Wwhat il be the remainder when [Z00+1] + [S00#1) + [400+1) + [ 500+ 1] + [E00+1] is divided by 107
A0

E.
C.
O.

h ) R
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Meena divides a number by 2. She then divides the answer by 2. This is the same as dividing the

original number by

(Note: The number leaves no remainder each time.)

A. 1.
B. 2.
4.

c.
D. (cannot be said as the original number is not known)

10.

1.

(5698 + 3397) x 5508 x (0 + 2754) equals

A. 0.

B. 9095,

C. a number greater than a lakh.

D. (none of the above as we cannot divide 0 by a number)
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Skill: Area and perimeter: concepts and computations

This skill involves understanding the concepts of area and perimeter and the ability to calculate these for
different shapes, and how they change with the shape.

12. Each side of the square and the triangle shown below is 5 units long.

5 units

-
- . > 5 units
5 units

They are arranged to form the shape shown below. What is the perimeter of the shape?

A. 20 cm
B. 25 cm
C. 30 cm
D. 35 cm

13. Two shapes are shown on the dot grid. If the perimeter of shape X is 3 units, what is the perimeter of
shape Y?

L] L] L] L L] L] L] L] L) L] L L] L]

A. 10 units
B. 12 units
C. 30 units
D. 36 units

E 1
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14, Shaheen has many triangular pieces, each of area 1 sq unit and many rectangular pieces, each of area
2 sq unit .

area = 1 sq unit

area = 2 sq unit
If she amanges these to form ashape as shown below;, what would be the area of this shape?

A9 =g unit

B. 13 =g unit
C. 14 =g unit
D. 15 =g unit

15. Two smaller rectangles of areas 4 cm2and 8 cm2are joined along one of their sides to form a bigger
rectangle as shown in the figure helow.

Area =

Area = 8 cm’
4 cm

What is the area of the bigger rectangle so formed?

A 2om?
B. 4 ol
C. 12 cm?
D. 32 cm?
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16. The area of each small triangle is 2 square units. What is the area of square PQRS (in square units)?
P Q
N %
,
N
Y M
I, \\
S R
A. 8
B. 16
C. 32
D. 48
17. A rectangular garden has sides as shown.
. 49 units
4 2
& 2
) ]
. 49 units .
How will its area be calculated in square units?
A, 49+ 37+ 49+ 37
B. 49x 37 x 49x 37
C. 49+ 37
D. 49 x 37
18. What can be said about the two figures given below?

figure 1

figure 2

A. Area offigure 1is more than area of figure 2.
B. Area of figure 2 is more than area of figure 1.
C. Perimeter of figure 2 is same as perimeter of figure 1.

D. FPerimeter of figure 2 is more than perimeter of figure 1.

www.ei-india.com



19. A rectangle of sides 5 cm and 2 om is cut out from a higger rectangle of sides 14 cm and 7 cm to form
a new shape as shown helow.

x : H
2om{} recinge | _—

7cm 5cm

14 cm New shape after the smaller
Original rectangle rectangle is cut out
What is the perimeter of the new shape formed ?
A. 46
B. 40
Co2

4 Skill: Hypothesis formulation; design of apparatus or experiment N

Ahypothesisis anidea, based on various aobservations, which can be tested further. W build hypotheses
in our heads to explain how things work or to predict how things may happen. However, to confifrm whether
the hypothesis is accurate, we need to conduct some E}y]eriment_s. hese experiments need to he
condocted carefully, so that the results can be compared and v erified.

vy

20. The picture shows coconut palms growing on a deserted island. How do you think the coconut trees
first began to growthere?

A_ The first coconut tree in the island may not have required a seed to grow.

B. The first coconut may have floated to the island, carried by ocean currents.

C. The log of a coconut tree may have floated to the island and grown into the first tree.
D. The fibrous ‘hair' of the first coconut helped the wind carry it to the island.
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21. Three identical containers P, Q and R are taken, and kept - one on the terrace of a tall building; another
on the terrace of a shorter building; and the third in an open space. After a rain, which one will have
the highest level of water, assuming no overflow and no obstructions near the containers?

Identical
containers|”
|
|
|
I
|
v
P M
A P
B. Q
C.R
D. All three will have the same level

22.  During photosynthesis plants make food (starch) and it is stored in the leaves or other parts. The plant
uses this starch for its growth. Mary took three potted plants similar in every way and kept them in a
dark room for 48 hours. The morning after, she tested for starch in the leaves and found it almost
ahsent. She placed the first plant in bright sunshine, the second one inside a room with a 100 W bulb,
and the third one inside a room with a 40 W bulb. In the evening she again tested for starch. Answer
the question from given information. What was Mary probably trying to find out?

r f = r ~
N 7= W . {'ﬁ- W
r./"“ 100 W Bulb 40w Bd:
C_EL:' i 0
i/ /,, '
\ J L
A. Is air needed for photosynthesis?
B. Do plants need light for photosynthesis?
C. Do plants make food in artificial yellow light?
D. Do plants make more food in some types of light?
23. Suresh is growing two plants, placed as shown here in two identical cardboard boxes.

-
//—_h_&_

Ei

What is he probably trying to test?

A. Is plant growth affected by the direction of light?

B. How much light do plants need in order to grow?
C. Is plant growth affected by gravity?

D. Do plants grow better in a garden or in a container?
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Manu wanted to verify if fertilizers help plants to grow well. He took a potted plant, mixed fertilizer to
the soil and took good care of the plant. He also maintained a record of the growth of the plant. The
error in Manu's experiment was

A. mixing fertilizer to the soil.

B. maintaining a growth chart.

C. not growing a similar plant without fertilizer.

D. watering the plant regularly.

Anita conducted a scientific experiment and reported the results. If Anitas results are valid, then others
in her class should be able to

A. perform the same experiment under the same conditions and obtain the same results.

B. perform the same experiment under the same conditions and obtain different resuits.

C. perform the same experiment under different conditions and obtain the same resdits.

D. perform a different experiment and obtain the same results.

If the earth were to reverse its direction of rotation, which of these changes is likely to be observed?

A. Mo change is likely to be observed on Earth.

B. The sun will rise in the West and set in the East.
C. Days will become longer and nights much shorter.
D. In India, summer will begin as early as December,

If you're standing on the moon holding a pen, and you let it go, it will

A. float away.

B. float where it is.

C. fall to the ground.

D. float towards the earth.

Skill: Classification/comparison of organisms/processes; giving examples

Once we know what the basic characteristics of substances or organisms or processes are, we should be
able to group or classify them according to their similarities or differences. The skill of classification is
important and is often an essential step in many scientific investigations.

Gitanjali and Rabindra are playing a game. Gitanjali has to find out what Rabindra is thinking about by
asking questions. Gitanjali: Is it an animal? Rabindra: YES Gitanjali: Does it have bones? Rabindra: NO
Gitanjali: Does it have external ears? Rabindra: NO Gitanjali: Can it fly? Rabindra: YES

Which of these could be Rahindra's guess?

. bat

b

B. worm
C. snake
D. mosqguito
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29. In theskeleton shown below; at which joint can the movement be ONLY like the opening and closing of
a door?
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Opaque Transparent | Soluble in water | Sinks in water

Mona was asked to name an example for each of the above mentioned categories. Here is what she
found out.

Opaque Transparent | Soluble in water Sinks in water

Copper Mirror Sugar A glass bottle completely filled with water

Which of her examples is WRONG?

A, Copper, because light does pass through it

B. Mirrar, because light cannot pass through it.

C. Sugar, because it does not dissolve inwater

D. A qglass bottle completely filled with water, because it will not sink in water.

. Which option shows the correct order in the life cycle of a plant.
Germination| | Flower production | Seed dispersal | Plant growth | | Pollination
1 2 3 4 3

32. Living things are classified into major groups like ‘plants’ or "animals’. These major gyroups are
classified into smaller groups hased on the similarities between them. Which of the following
statements about classification of some living things is true?

A Aflyis aninsect, and also a bird.

B. Afly is an insect, but not an animal.
C. Anpigeonis a hird, and also an insect.
D. Apigeonis a hird, and also an animal.
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i

Aoplant's lemf turns sunlight into another form of enengy. Which man-made structure is most =imilar to
theplart les?

AL Anelectic bulb
B. Azalar cell

C. Awindmill

0. Acandle

24,

Which of these iz OPAGIUEY

AL Codking oil
E. A mirrar

C. Spectacles
0. Riwerwater

icla

Aplant folding its leawes with the slightest touch i=s s milar to

A a cockroach mowing aweay from light
B. alizard groming a newvw tail

C. awater liby having asoftstem

0. afish breathing through its gills

3E.

Skill wizme smaEl AT ArERt &1 oS Htr v
wiEmT oEaf T e B O oEs S R T & # udr BRr oSer ¥ SU-mam agre awt Bl
WFW i THTeg TW AE-TEn, I, O A Biles et F g, TR e o Bty 8w i
TEERT WTERHT T MY 85T TR Aot O HT Tmee ot M ToE O 8| ATTETOER TS MM R HYE
al?l'l;‘rmmﬂraﬁﬂ;mﬂmﬁrmraaﬁﬁﬂﬂﬂmaﬁnpﬂﬂ;mmmﬁﬂﬁ

mﬁrwmﬁﬁﬁﬂﬂamﬁm| mﬂmmmaﬂﬂﬁm&mg‘m?
A GIE HET T O

E. T &4 FTUTFT 747

C. T3 ot I

D. S EeT T T

aT.

HTHT T & Tom =g (IR omE Tl Wel T aTerat W ¥ o e TEeAT T

A O
B. modr
C. Il
D. s
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38, Hifed & FeAlA W /A 51 d ool G@ A ¥ U HY &L WU | 7Y ThU real & FUE oY arery @l
grer A Taa aara & fow ga o F & foeg derat & foran o gaar £7
A. gad 338
B. @S 3310
C. yyde =iv
D. @& & WY
39, AU AT @ HT AeAE B @ g & I' 28 arer # Rew Fgrat & uEr sfEa gem
A. Tell d HAS
B. ghr-aa<hl 1€ 75
C. 3w & &
D. ardr-urdy 2
Skilliaffes uhR & Ueat &1 i vd 3 ggT
amar 3 HAEaT d & e eregl 3R 3a% sRT wET @ Fhr A far g FE-ad e & aed
# g S | A T 3HS HY H HgA B o | Ueg By dle b eld §, JHE 3T are, fagda
H are, S HY are, gdE HY are, JAE A @ ael, B3 e P ue e, WA,
faftes wfodt & am, dearsdt & am wfE |
40. ITed Tl A arges "ol T A, FHIC aF ghcan af gEl & W' 36 arr A @i Aeg 4 & e g
-6 e S Hebel €7
A H
B. ¥4
C. 3
D. ¥4
#. TaoEn & H i oI o d AR ?7 T AT B Aedl | gore & o [EECICUREC RG]
Reh TUET T Uk 7 e T WHNT AT §, a8 S HIF-JT E2
A. @8
B. AR
C. fredr
D. &
42, A Y aEr g B o ® E mﬁaﬁaﬁmﬁrmﬁmw?&mm,maﬂ?—m%ﬂﬂwﬁaﬁnﬁr
I w)gaEas e g e g
A. fat
B. #ar
C. T
D. em
43, 914 Taifa & qiieT A &F dat HT a1 38 agd sl i vu= & v sRa aeg g1
A. =
B.qﬁr
C.g%
D. tIR
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Answers & Explanation

English

Skill; Idertifies fad = and makes important connedions in comprehending = passage.

A The ward " kind " in stanza - 1 of the poem iz used a= a noun referming to 3 class of people. b the line fom the first
stanza - "the kind wha likes to tell”, the poet is deardy re®eming to 3@ person. W know this because the poet tells us more
about " the kind " uzing the pronoun "whe". "Whe" iz used onlyin reference to persons. The word " kind " follows an
artick (the’l. Since there are no adjectives beboean "the” and "kind" and more importardy, asthere are no other nouns
fllowing "Wnd" , we can zafely zaythat "kind" in stanza - 1 iz a noun. Option - D iz wrong becauze although " paper "iz
uwsually uzed as a noun, itz work in s@nza - § ofthe poemis that of "AN ADJECT MVE'. K we look atthe line ofthe poem
and congider ” paper airplane ", we can understand that * paper " iz uzed as an adjective describing the ™ airplane ™

Adjective followed by 3 noun).

B: The word " =uff"” is #ound in the third line of the second stanza ofthe poem.

‘the stuffthat happened yesterdays, or even long-agos.”

h the second stanza, the poet gives us an idea of how good his teacher isin matters related to histony, To support the
basic idea, the poet talks about things and " occumences that happened” at some point oftime. The post refkrs to thess
happenings and ocoumences as " stoff . Option - C: “people” iz not comect because the poet goes on to esplain " shff"
az that which happened the previous day or seweral days ago. Something that "happened” cannot simply be persons or
people *. Something that * happened ™ must be zome events or " occumences ©.

C: Al the lines inthe fourth and the ifth s@nz a= of the poem end in a rhyme. In the fourth sanza, the lines end with the
£ - zounding” rhoyming words: " crows ", M grow s ", " radios " glows " and " knows ", In the fith stanza of the poem, the
ines end with the ©lowing "y or wou - zounding” thyming words: " blue ", " dew ", "troe ', " due " and "too . Option - B
i5 not the comect anawer becauze MOT all the lines ofthe third sEnza end with words that rhyme. The drst and the third
ine ofthe third stanza end with words like * me " and " report " which nether rhyme with each other nor with the other
endings like " wrong " and " 2ong ",

C: The “know-it-all" in the poet's clazs i=" a3 teacher ™. The l[ast two lines of the poem gives us a clear anaver: "But
someday | will be like her... fm going to be a teacher” Option - A03 classmate) is NOT comeat because the poet cearhy
states in these two lines that "someday” he wants to become ke her”. In the 1ast line, the poet dedare=s that "he will
become a teacher”. WMife can also understand that the poet iz indeed talking of histeacher and MOT one of his classmates
n the beginning of the third stanza: She's cons@nthy comeding me . Lif I'm a litle wrong. s our teacher who often
comects us when we do wrong or make mistakes and HOT "one of our dassmates".

C: Inthe line "But someday [will be like her..”" at the end of the poem, the poet announces that zomeday he will be liks
her. The fact that the poet dedares "l will be like her. " iz " 3 gign of detemmingtion *. it also gives " 3 sign of inspiration
that the poet draws Fom " her , in thiz case from “his teacher”. Option A cannot be the comect answer as it iz a basic
staterment that the post makes and contains MO " signs ofinspirgtion and determination . The poet not only uses the
given line in the poem, he alzo gives the poemthe ame title: " Wy Class Has Got a Know-E-A1"to pot the basic idea of
the poem oneard.

B: The word " admiration " sumes up the post's feeling for the person who “now s-it-all”. Wi can understand the poet's
£eling from the [ast stanza of the poem. The poet tellz us: "You might think I'd be angry with this great-smart creature.”
But the poet soon darifiesthat he is HOT angry with the " Know-it-all *. He, in fat, goes on to say: "But someday | will be
ike her.." This shows great " admirgtion " for this person. Option - O (encour@gement’) is not comect because we can
clearly see that throughout the length of the poem, the poet speaks wery highly of the * Know-it-all *. This "feeling” cannot
be anything but ™ admirgtion . " Encouragement " iz not of “keeling”. * Encouragement " is something wou either give to
someons to r@ize that someone's confidence or wou get from someons that results inan increase in your own confidence,
S0 wou don't feel " encouragement ', you efther give or get it

Maths

Skill: Arithrnetic operaions: four basic operadions, properties

B: The problem iz the same as that "if 40012 objects are put inte groups of 22 each, it leawes ot 16 of the objects. If
40012 objects are put into groups of 11 each instead of 22, how many objects will be left out™?™

Each group of 22 can be zplit into 2 groups of 11, Ofthe 16 objects remaining, one can forma group of 11 leawving ot 5
objedts. So, b is the remainder if 40012 iz divided by 11,

0: Can wou zee that the sum C2004+17 + C3004+17 + (400+17 + (500417 + (600417 i=the same as (200 + 200 + 400 + 500 +
GOOY 4+ (1T + 1 4+ 1 + 1+ 177 The number in the first bracket iz exacty divsible by 10, S0 the given sum will leawe the
mrainder 5.

C: Can wou e that the problem iz the same as "weena divided zome objects inta 2 aqual groups. She then further
divided each group into two equal groups. This is =ame as dividing objedtsinto _ equal groups."?

The result is the same as that if she divided thesz objects into 4 equal groups. Thus, what eena did is the same as
diniding the arginal number by 4,

E.
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10.

1.

12

13

14.

15.

16.

17.

18.

18,

21.

O We need to use EODMAS rule to decide the arder of operations and not perform them left to right. That is we need to
perform the operations in the order Brackets, of, Division, Multiplication, Addition and then Subfraction. So here division is
to be performed first. S0, 8-4+2+2=8-(4+2)+2=(B-N+2=6+2=8,

A 0+2754=0and 5508 = 0=0. So, (5698 + 3397) = 5508 = (0 + 2754) = (56898 + 3397y = 0 =0
Mote that we are here dividing 0 by a number and not dividing a number by 0.

Skill: Area and perimeter: concepts and computations

B: The square has a perimeter of 5+ 5 + 5 + 5 = 20 units. When the new shape is formed by placing the triangle on the
square, 2 additional sides of 5 units each are added and one side of the square and one side of the triangle are no longer
on the boundary. So the boundary of the new shape is made of 3 sides of the square and 2 of the friangle, each 3 units
long. So the perimeter is 5 = 5 = 25 units.

B: We are given that the perimeter of shape X is 3 units. Its boundary is made up of 3 straight lines of equal length, So
each is of length 1 unit. That is the distance between two neighboring dots on the grid is 1 unit. Going along the boundary
of shape Y, counting the number of such units, we see that there are 12 units, So the perimeter of shape Y is 12 units.

C: The given shape is made of 5 rectangles and 4 triangles. The area of the shape is the sum of the area of these
individual shapes. The area of each rectangle is 2 square units, so the area of 5 such rectangles is 5 = 2 = 10 square
units. The area of each triangle is 1 square unit. So the area of 4 such triangles is 4 square units. So the total area of the
shape is 10 + 4 = 14 square units.

C. When we join two smaller rectangles to form a larger one, the area covered by the larger rectangle is the sum of the
areas of the 2 smaller rectangles. So the area of the larger rectangle here is 8 + 4 = 12 cm 2 When we have a
rectangle whose length is 8 cm and breadth is 4 cm, we multiply 8 = 4 to get the area. But that is NOT the case here.
Here 8 and 4 are the areas of the smaller rectangles.

B: We see that the square is divided into 8 identical small triangles. We are given that the area of each small triangle is 2
sguare units. So the area of the square = area of 8§ such small triangles = 8 = 2 = 16 square units.

O The area of the figure in square units is the number of unit squares required to just cover the figure completely. Let us
try covering the figure with unit squares. We need to have 49 unit squares in a row (along the length of the figure) as the
length of the figure is 49 units. (Remember a unit square is a square whose side is 1 unit long.) To completely cover the
figure we need to have 37 such rows. So the total number of unit squares = 49 = 37, This is the area of the figure in
square units,

D: Figure 2 is formed from figure 1 by just maving one of the tiles. Both the figures are still made of 3 identical tiles, and
£0 their areas will be the same. The perimeter of a figure is the total length of its boundary. Compare the boundaries of
the 2 figures. In figure 2 do you see that some pans of the boundaries of the first 2 tiles, that were inside the figure in
figure 1, are exposed in figure 2, as a result of the movement? Also no part of the houndary that is exposed in figure 1 is
covered up in figure 2, So the total length of the boundary of figure 2 is greater and so it has a greater perimeter.

A: The perimeter of the larger rectangle = 7 + 14 + 7 + 14 = 42 cm. Let us see how the boundary of the larger rectangle
changes when we cut out the smaller rectangle. A portion of the boundary of the larger rectangle of length 5 cm is cut off
when the smaller rectangle is cut out. To compensate for this decrease, another length of 5 cm is added to the boundary
further down, Also two 2 cm lengths corresponding to the width of the smaller rectangle are also added to the boundary.

So the total change is 4 cm added to the boundary of the larger rectangle. So The perimeter of the new shape is 42 + 4

= 46 cm.

Science
Skill: Hypothesis formulation; design of apparatus or experiment

B: Most trees grow from seeds. Humans can use other plant-parts and grow trees using different techniques, but this
would not happen on a deserted island. Hence, A and C cannot be correct. Option D cannct be correct because a
coconut is too heavy to be carried by the wind, even with the hair or husk of the coconut, A coconut must have floated
and landed on this island and then grown to form a tree, from which other trees grew

O If 3 identical containers are kept in places that are unobstructed, which means that there is nothing covering it and rain
can fall into them directly, then they will all contain the same levels of water if they are in the same region. Thus, option D
is the correct answer.

O In each of the cases, the plant is exposed to different amounts of light and when Mary checks the amount of starch at
the end of each of these cases, the effect of light on the amount of starch produced can be checked. A and B cannot be
correct as air and light are present in all three cases and C is not correct because there would be no need for two cases
with artificial light.

A: The only thing different in both the cases is the direction fram which light is available to the plant. In one case, the light
comes from the side and in one case, it comes from the top. The amount of light and gravity is not different in both cases,
s0 options B and C cannot be answered by this setup. Alsc, both plants are in containers, so option D also cannot be
answered,

°
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C: When you want to compare whether a plant can grow faster with fertilizer, you also need to grow a plant without any
fertilizer, but keep all the other conditions exactly the same. If you don't do this, you will not be able to compare the
results scientifically. This was Manu's error. He did all the right things by mixing fertilizer to the scil, maintaining a growth
chart and watering the plant regularly, so options A, B and D cannot be the correct answer,

A When an experiment is done under the same conditions, the results obtained would also be the same. If the results
seem different, we are probably not considering some conditions that may have varied a bit.

B: We see the Sun rising from the East and setting in the West because the Earth rotates from West to East. If this
direction of rotation is reversed, the Sun would appear to rise from the \West and set in the East. Also, simply changing
the direction of rotation will not change the period of time for which the Sun faces different pars of the Earth and hence,
the length of the days and nights will not change. Hence, option B is the only correct answer.

C. Although slightly less than the Earth's gravity, the Moon also exerts a gravitational pull. So, if you were to let go of a
pen on the Moon, it would fall to the ground.

Skill: Classification/comparison of organisms/processes; giving examples

D: Those living organisms which cannot make their own food and depend on others for food are called ‘animals’. Bat,
snake, insects like mosguitoes and worms are all animals. Some of them have bones, like bats and snakes while some
do not, like all insects and worms. Such animals without bones do not have any external ears. Some animals with hones
have external ears and are known as mammals, like the bat. Hence A is incorrect,

D: The knee joint is a type of hinge joint. It is allowed to move in only direction and nct in any other (that is why we can
only bend our knees backwards and not forwards) like a door on a door hinge. The wrist joint is a type of gliding joint
where two bone plates slide against one anather. Hence C is incorrect.

http: ffiwww elcosh.orglen/document/521/d000506/knee- pain-and-discomfort. htmil

http: ffarthritis. about. comfodfarthritisbyanatomylgfjoint. htm

B: Light rays cannct pass through a mirror but are reflected from its surface, hence it is opaque and not transparent, It
appears shiny because of reflection on its smocth surface which forms images. An empty glass bottle will float in water
but if the same bottle is completely filled with water, it will sink. Hence D is incorrect.

C: Pollen is transferred from one flower to anather by pallination. This leads to fertilization in the flowers leading to
formation of fruits containing seeds. The seeds are further dispersed to other places and they germinate under favourable
conditions. A plant grows from the germinated seed and produces flowers. Seeds do not directly produce flowers, nor
does germination lead to pollination hence B is incorrect.

D: Generally, living things that produce their own food with the help of sunlight are called plants and those that are
dependent on other living beings for food are called animals. A fly as well as a pigeon fall under the Animal group.
However, flies are insects and pigeons are birds. Hence, option B is incorrect,

B: The leaf of a plant uses sunlight, carbondioxide and water to make food which is later used to give energy. A solar cell
also captures sunlight and converts it into some other form of energy. Hence B is correct. A windmill does not use
sunlight but uses wind energy which is converted to some other form of energy. Hence C is incorrect.

B: A mirror is opague, that is light rays cannot pass through it but they are reflected from its surface. As its surface is
smooth, images are formed due to reflection and it appears shiny. The glasses used in spectacles and water are both
transparent materials through which light can pass through. Some light will pass through even the darkest of the cooking
oils. Hence A, T and D are incorrect,

A: Living organisms respond in some way to different external conditions like light, smell, touch etc. Some plant leaves
respond to external touch by folding leaves while some insects like cockroach prefer dark places and respond to light by
rmoving from bright places to dark ones. A water lily having a soft stemn is characteristic of its parts and is not a response
to any external condition hence C is incorrect
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